MATHEMATICAL ASSOCIATION



supporting mathematics in education

3146. Quadratic Forms That Are Perfect Squares Author(s): N. J. Kalton Reviewed work(s): Source: *The Mathematical Gazette*, Vol. 50, No. 372 (May, 1966), pp. 168-170 Published by: <u>The Mathematical Association</u> Stable URL: <u>http://www.jstor.org/stable/3611957</u> Accessed: 06/12/2011 21:02

Your use of the JSTOR archive indicates your acceptance of the Terms & Conditions of Use, available at http://www.jstor.org/page/info/about/policies/terms.jsp

JSTOR is a not-for-profit service that helps scholars, researchers, and students discover, use, and build upon a wide range of content in a trusted digital archive. We use information technology and tools to increase productivity and facilitate new forms of scholarship. For more information about JSTOR, please contact support@jstor.org.



The Mathematical Association is collaborating with JSTOR to digitize, preserve and extend access to *The Mathematical Gazette*.

$$\begin{split} \sum a^2 = 2, \quad \sum b^2 = 5, \quad \sum ab = 3, \quad D = 1, \\ 7^2 = 3^2 + 6^2 + 2^2. \end{split}$$

and

The diagonal square matrix

$$4 = \begin{bmatrix} a & 0 \\ 0 & b \end{bmatrix}$$

yields the well known formula

$$(a^2+b^2)^2 = (a^2-b^2)^2 + (2ab)^2$$

for Pythagorean numbers.

Formula (2) shows that the square of the sum of the squares of 2n numbers a_i , b_i , some of which might be zeros, is a sum of

$$2+\frac{n\left(n-1\right)}{2}$$

squares generally.

In the case n=2 and $\sum ab \neq 0$, the same formula can be very useful for authors and teachers when preparing some numerical problems of three-dimensional coordinate geometry.

Dr. B. Cvetkov

Department of Mathematics University of Queensland Brisbane, Australia

3146. Quadratic forms that are perfect squares

If a and b are given integers, for how many integral values of x is $x^2 + ax + b$ a perfect square?

If x = X is a solution,

....

$$X^2 + aX + b = Y^2$$

$$(X + \frac{1}{2}a)^2 - Y^2 = \frac{1}{4}a^2 - b$$

:. $(2X - 2Y + a)(2X + 2Y + a) = a^2 - 4b = D$ say.

(i) If D=0, then a=2c, $b=c^2$

and $(x^2 + ax + b) \equiv (x + c)^2$.

: The number of solutions is infinite.

(ii) If a is odd, then $a^2 \equiv 1 \pmod{4}$ $\therefore \qquad D \equiv 1 \pmod{4}$ If $2X - 2Y + a = f_1$ $2X + 2Y + a = f_2$

168

then $f_1 f_2 = D$ and $4X = f_1 + f_2 - 2a$.

But every factor pair (f_1, f_2) of D is such that

$$f_1 \equiv f_2 \equiv \pm 1 \pmod{4}$$

since $D \equiv 1 \pmod{4}$

...

$$f_1 + f_2 \equiv 2 \pmod{4}$$

 \therefore since *a* is odd

$$f_1 + f_2 - 2a \equiv 0 \pmod{4}.$$

:. To every factor pair (f_1, f_2) of D there corresponds a solution $\frac{1}{4}(f_1+f_2-2a)$. Since no two factor pairs have the same sum, these solutions are distinct; also, to every solution x = X, there corresponds a factor pair (2X-2Y+a, 2X+2Y+a). Hence the number of solutions equals the number of factor pairs = N, say.

If D = 1 the factor pairs are (+1, +1) and (-1, -1) giving N = 2. If $|D| = 3^{\alpha_2} 5^{\alpha_3} \dots p_n^{\alpha_n}$ where the largest prime factor of |D| is p_n , the *n*th positive prime, then the number of factors (positive or negative) of D is $2\prod_{1}^{n} (1 + \alpha_r)$, since all numbers of the form

$$\pm 3^{\beta_2} 5^{\beta_3} \dots p_n^{\beta_n}$$
 with $0 \leq \beta_r \leq \alpha_r$

are factors.

If D is not a perfect square, there are, therefore, $\prod_{2}^{n} (1 + \alpha_r)$ factor pairs and $N = \prod_{2}^{n} (1 + \alpha_r)$.

If $D = z^2$, there are (excluding $\pm z$) $2\prod_{2}^{n} (1 + \alpha_r) - 2$ factors giving $\prod_{2}^{n} (1 + \alpha_r) - 1$ factor pairs. In addition there are the factor pairs (+z, +z), (-z, -z).

$$\therefore N = \prod_{2}^{n} (1 + \alpha_r) + 1.$$

(iii) If a is even, then a = 2c

$$(X - Y + c)(X + Y + c) = c2 - b = \delta$$
 say.
$$X - Y + c = g_1,$$

Then if

$$X+Y+c=g_2,$$

$$g_1g_2 = \delta$$
 and $2X = g_1 + g_2 - 2c$.

: There is a solution for every factor pair (g_1, g_2) of δ if $g_1 + g_2$ is even.

Let $\delta = 2^m 3^{\alpha_2} 5^{\alpha_3} \dots p_n^{\alpha_n}.$

If m = 0, every factor is odd and hence $g_1 + g_2$ is even for all pairs.

Hence $N = \prod_{\alpha}^{n} (1 + \alpha_r)$ unless δ is a perfect square, when

$$N = \prod_{2}^{n} (1 + \alpha_r) + 1.$$

If m = 1, then one factor is odd and one even.

Hence their sum is odd and N = 0.

If $m \ge 2$, for pairs giving solutions, both factors must be even. Hence the number of solutions is the number of factor pairs of

$$\frac{1}{4}\delta = 2^{m-2}3^{\alpha_2}5^{\alpha_3} \dots p_n^{\alpha_n}$$

: $N = (m-1)\prod_2^n (1+\alpha_r)$

unless δ is a perfect square when

$$N = (m-1) \prod_{2}^{n} (1+\alpha_r) + 1$$
$$4\delta = D = 2^{\alpha_1} 3^{\alpha_2} 5^{\alpha_3} \dots p_n^{\alpha_n}$$

 \mathbf{But}

where $\alpha_1 = m + 2$.

- .: Conclusion
- (1) If D=0 then N is infinite.
- (2) If D = 1 then N = 2.

If $D = \pm 2^{\alpha_1} 3^{\alpha_2} \dots p_n^{\alpha_n}$ and t be defined such that t = 0 unless D is a perfect square, when t = 1, [thus $t = \frac{1}{2} \{1 - (-1)^{\prod (1 + \alpha_r)}\}$] then:

(3) If
$$\alpha_1 = 0$$
, $N = \prod_{2}^{n} (1 + \alpha_r) + t$.

(4) $\alpha_1 = 1$ is impossible.

(5) If
$$\alpha_1 = 2$$
, $N = \prod_{1}^{n} (1 + \alpha_r) + t$.

(6) If
$$\alpha_1 \ge 3$$
, $N = (\alpha_1 - 3) \prod_{2}^{n} (1 + \alpha_r) + t$.

54 Siward Road, Bromley, Kent

N. J. KALTON